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Soluzione	
  di	
  problemi	
  non	
  lineari	
  in	
  ele2ronica:	
  	
  
il	
  metodo	
  della	
  re2a	
  di	
  carico	
  

VG = IR +Vd
Vd = IcRc
I = Id + Ic
Vd =Vd (Id )

⎧
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⎪
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VG = IdR +Vd 1+
R
Rc

⎛
⎝⎜

⎞
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Vd =Vd (Id )
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Gli	
  inventori	
  del	
  transistor	
  bipolare	
  (premi	
  Nobel	
  nel	
  1956):	
  da	
  sinistra;	
  e	
  
John	
  Bardeen,	
  William	
  P.	
  Shockley,	
  e	
  Walter	
  H.	
  Bra2ain	
  (il	
  primo	
  ha	
  vinto	
  
un	
  secondo	
  premio	
  Nobel	
  nel	
  1972	
  insieme	
  a	
  Cooper	
  e	
  Schrieffer	
  per	
  la	
  
teoria	
  della	
  supercondu?vità).	
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Buona	
  parte	
  della	
  corrente	
  di	
  eme?tore	
  
va	
  nel	
  colle2ore	
  

IC =α IE

α ≈ 0.99
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IE = IB + IC    e inoltre   IC =α IE

⇒ IE =
1

1−α
IB     e      IC = α

1−α
IB = β IB
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transistor	
  bipolare	
  	
  
PNP	
  

transistor	
  bipolare	
  	
  
NPN	
  

Le	
  regole	
  basilari	
  del	
  funzionamento	
  dei	
  transistor	
  npn	
  sono	
  le	
  seguen3:	
  

	
  	
  

1. 	
  Il	
  colle2ore	
  deve	
  essere	
  "più	
  posiXvo"	
  dell'eme?tore	
  

2. 	
  Le	
  giunzioni	
  base-­‐eme?tore	
  e	
  base	
  colle2ore	
  sono	
  due	
  diodi	
  (e	
  quindi	
  VB	
  ≈	
  VE	
  +	
  0.6	
  

	
  Volt)	
  

3. 	
  IB,	
  IC,	
  IE	
  hanno	
  dei	
  valori	
  massimi	
  che	
  non	
  possono	
  superare,	
  pena	
  la	
  distruzione	
  del	
  

	
  transistor	
  

4. 	
  	
  	
  

	
  

IC = α
1−α

IB = β IB
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Vin +V EE= REIE +VBE
Vout = RCIC
RCIC −VBC =VCC
IC = IE − IB =α IE

Configurazione	
  a	
  base	
  comune	
  

ΔIC =αΔIE =α
ΔVin
RE

ΔVout = RCΔIC =α RC
RE

ΔVin
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VCC =VCE + ICRC
IC = IC IB ,VCE( )

Configurazione	
  a	
  eme?tore	
  comune	
  e	
  curve	
  cara2erisXche	
  

soluzione	
  con	
  il	
  metodo	
  della	
  
re2a	
  di	
  carico	
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Emi2er	
  follower	
  	
  

Vin −Vout =VBE ≈ 0.6V
IE = IB + IC = 1+ β( ) IB

ΔVin ≈ ΔVout
ΔIE = 1+ β( )ΔIB

Zin =
ΔVin
ΔIB

≈ 1+ β( )ΔVout
ΔIE

= 1+ β( )Zout

applicazioni:	
  ada0amento	
  di	
  impedenza,	
  aumento	
  della	
  potenza	
  del	
  segnale	
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Amplificatore	
  ad	
  eme?tore	
  comune	
  

Vout =VC =VCC − ICRC
ΔVin = ΔVB ≈ ΔVE
ΔVE = REΔIE ≈ REΔIC

ΔVout = ΔVC = −RCΔIC

G = ΔVout
ΔVin

≈ − RC
REamplificatore	
  invertente!	
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Proge2o	
  di	
  un	
  amplificatore	
  a	
  transistor	
  
nella	
  configurazione	
  a	
  eme?tore	
  comune	
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Nel	
  circuito	
  possiamo	
  isolare	
  una	
  parte	
  (segnata	
  nel	
  tra2eggio)	
  che	
  rappresenta	
  un	
  parXtore	
  
che	
  cosXtuisce	
  la	
  rete	
  di	
  polarizzazione	
  della	
  base:	
  la	
  scelta	
  delle	
  resistenze	
  del	
  parXtore	
  
seleziona	
  il	
  punto	
  di	
  lavoro	
  dell’amplificatore.	
  	
  
In	
  modo	
  del	
  tu2o	
  analogo	
  le	
  resistenze	
  RL,	
  RE	
  e	
  il	
  transistor	
  cosXtuiscono	
  una	
  specie	
  di	
  
parXtore	
  con	
  una	
  resistenza	
  variabile	
  (il	
  transistor):	
  la	
  conseguenza	
  è	
  che	
  la	
  tensione	
  di	
  
uscita	
  può	
  variare	
  tra	
  0V	
  e	
  la	
  tensione	
  di	
  alimentazione	
  +V.	
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ΔVin = ΔVB ≈ ΔVE = REΔIE ≈ REΔIC
ΔVout = ΔVC = −RLΔIC

G = ΔVout
ΔVin

≈ − RL

RE

⎛
⎝⎜

⎞
⎠⎟
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Definizione	
  dei	
  parametri	
  del	
  circuito	
  	
  
	
  
•  la	
  prima	
  scelta	
  l’abbiamo	
  già	
  fa2a:	
  abbiamo	
  preso	
  una	
  

configurazione	
  di	
  amplificatore	
  a	
  eme?tore	
  comune.	
  
	
  

•  a	
  questo	
  punto	
  scegliamo	
  la	
  tensione	
  di	
  alimentazione:	
  come	
  si	
  
è	
  visto	
  questo	
  determina	
  l’escursione	
  massima	
  in	
  tensione	
  del	
  
segnale	
  amplificato.	
  Questa	
  scelta	
  dipende	
  da	
  molX	
  fa2ori,	
  tra	
  
cui	
  il	
  Xpo	
  di	
  alimentatore	
  disponibile	
  e	
  le	
  cara2erisXche	
  dei	
  
transistor	
  che	
  abbiamo	
  a	
  disposizione:	
  in	
  praXca	
  si	
  tra2a	
  
sempre	
  di	
  una	
  tensione	
  dell’ordine	
  della	
  decina	
  di	
  volt.	
  	
  
Noi	
  scegliamo	
  una	
  tensione	
  di	
  10V	
  che	
  è	
  compaXbile	
  con	
  la	
  
tensione	
  massima	
  eme?tore-­‐colle2ore	
  di	
  questo	
  transistor	
  
(40V)	
  ed	
  è	
  facile	
  da	
  o2enere	
  con	
  gli	
  alimentatori	
  normalmente	
  
disponibili	
  in	
  laboratorio.	
  	
  

	
  
Edoardo	
  Milo?	
  -­‐	
  Breve	
  introduzione	
  all'ele2ronica	
  



•	
  scegliamo	
  ora	
  la	
  corrente	
  quiescente	
  della	
  maglia	
  di	
  uscita.	
  Questa	
  corrente	
  
viene	
  determinata	
  a	
  parXre	
  dalle	
  cara2erisXche	
  del	
  transistor.	
  In	
  questo	
  caso	
  la	
  
corrente	
  di	
  colle2ore	
  massima	
  acce2abile	
  è	
  di	
  200	
  mA,	
  mentre	
  la	
  dissipazione	
  
termica	
  in	
  condizioni	
  ordinarie	
  è	
  di	
  0.6	
  W	
  circa.	
  Così	
  con	
  una	
  tensione	
  (massima)	
  
eme?tore-­‐colle2ore	
  di	
  10V	
  si	
  o?ene	
  la	
  dissipazione	
  (massima)	
  di	
  0.6W	
  con	
  una	
  
corrente	
  di	
  60	
  mA.	
  	
  
	
  
Questo	
  sta	
  all’interno	
  del	
  limite	
  di	
  200	
  mA,	
  ma	
  è	
  una	
  corrente	
  piu2osto	
  alta	
  se	
  
prendiamo	
  delle	
  resistenze	
  di	
  polarizzazione	
  dell’ordine	
  del	
  kOhm	
  (non	
  possiamo	
  
prendere	
  delle	
  resistenze	
  troppo	
  piccole	
  se	
  non	
  vogliamo	
  che	
  un	
  carico	
  tra	
  quelli	
  
ordinariamente	
  disponibili	
  modifichi	
  eccessivamente	
  la	
  rete	
  di	
  polarizzazione	
  del	
  
transistor).	
  Infa?	
  la	
  dissipazione	
  di	
  potenza	
  su	
  1	
  kOhm	
  diventa	
  in	
  questo	
  caso	
  
3.6	
  W,	
  una	
  potenza	
  piu2osto	
  elevata,	
  che	
  comporta	
  l’uXlizzo	
  di	
  componenX	
  
meccanicamente	
  piu2osto	
  grandi.	
  	
  
	
  
Se	
  vogliamo	
  uXlizzare	
  le	
  normali	
  resistenze	
  da	
  1/4	
  W	
  o	
  da	
  1/2	
  W,	
  dobbiamo	
  
abbassare	
  la	
  corrente:	
  prendiamo	
  un	
  valore	
  di	
  un	
  fa2ore	
  15	
  più	
  piccolo,	
  IC	
  =	
  4	
  mA.	
  
Con	
  questa	
  corrente	
  il	
  “parXtore”	
  di	
  uscita	
  si	
  comporta	
  in	
  modo	
  che	
  la	
  resistenza	
  
equivalente	
  totale	
  abbia	
  10V/4mA	
  =	
  2.5	
  kOhm.	
  La	
  tensione	
  quiescente	
  di	
  uscita	
  
viene	
  posta	
  allora	
  a	
  V/2	
  	
  (=5V)	
  se	
  si	
  prende	
  RL	
  =	
  2.5	
  kOhm	
  /2	
  =	
  1.25	
  kOhm.	
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È	
  buona	
  praXca	
  prendere	
  la	
  resistenza	
  di	
  eme?tore	
  grande	
  almeno	
  
RL/10:	
  qui	
  noi	
  prendiamo	
  RE=RL/3,	
  vale	
  a	
  dire	
  RE	
  ≈	
  417	
  Ohm.	
  Questo	
  
significa	
  che	
  l’amplificatore	
  ha	
  guadagno	
  G=3	
  e	
  che	
  la	
  tensione	
  di	
  
eme?tore	
  è	
  	
  
	
  	
  
	
  	
  
e	
  la	
  tensione	
  di	
  base	
  è	
  circa	
  0.6V	
  più	
  alta,	
  vale	
  a	
  dire	
  circa	
  VB	
  ≈	
  2.3V.	
  
	
  

VE ≈ 417Ω⋅4mA ≈1.7V
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•	
  per	
  completare	
  la	
  scelta	
  delle	
  resistenze	
  dobbiamo	
  determinare	
  i	
  
valori	
  delle	
  resistenze	
  R1	
  e	
  R2:	
  per	
  farlo	
  in	
  modo	
  corre2o	
  
dovremmo	
  conoscere	
  l’esa2o	
  valore	
  di	
  beta	
  del	
  nostro	
  transistor,	
  
ma	
  dal	
  datasheet	
  si	
  trova	
  che	
  esso	
  varia	
  Xpicamente	
  tra	
  70	
  e	
  300,	
  e	
  
per	
  questo	
  noi	
  prendiamo	
  il	
  valore	
  beta	
  =	
  100.	
  	
  
	
  
Questo	
  vuol	
  dire	
  che	
  la	
  corrente	
  di	
  base	
  è	
  100	
  volte	
  più	
  piccola	
  
della	
  corrente	
  di	
  colle@ore,	
  e	
  quindi	
  vale	
  40µA.	
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La	
  figura	
  mostra	
  come	
  si	
  divide	
  la	
  corrente	
  nel	
  parXtore	
  di	
  ingresso;	
  devono	
  
valere	
  quindi	
  le	
  seguenX	
  equazioni:	
  
	
  

!

I1 = I2 + IB
I1R1 =V −VB
I2R2 =VB

I1 =
VB
R2

+ IB

I1 =
V −VB
R1

I2 =
VB
R2
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Il	
  sistema	
  non	
  si	
  può	
  risolvere	
  per	
  trovare	
  le	
  correnX	
  e	
  le	
  resistenze	
  a	
  meno	
  che	
  
non	
  si	
  imponga	
  una	
  condizione	
  aggiunXva.	
  Adesso	
  però	
  si	
  può	
  notare	
  che	
  la	
  
corrente	
  nella	
  resistenza	
  R2	
  deve	
  essere	
  molto	
  maggiore	
  della	
  corrente	
  di	
  base,	
  
in	
  modo	
  che	
  un	
  cambiamento	
  della	
  corrente	
  di	
  base	
  non	
  influenzi	
  il	
  
comportamento	
  della	
  rete:	
  prendiamo	
  dunque	
  I2	
  =	
  10	
  IB,	
  allora	
  	
  

VB
R2

≈ 2.3V
R2

≈ 0.4mA; R2 ≈ 5.75kΩ

I1 ≈ 0.44mA ≈ V −VB
R1

= 10V − 2.3V
R1

= 7.7V
R1

; R1 ≈17.5kΩ

I1 =
VB
R2

+ IB

I1 =
V −VB
R1

I2 =
VB
R2
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•	
  la	
  scelta	
  del	
  condensatore	
  di	
  disaccoppiamento	
  dipende	
  dalla	
  
resistenza	
  R2	
  (che	
  me2e	
  a	
  terra	
  il	
  segnale	
  in	
  ingresso):	
  insieme	
  il	
  
condensatore	
  e	
  R2	
  cosXtuiscono	
  un	
  filtro	
  RC	
  passa	
  alto	
  con	
  una	
  
frequenza	
  di	
  taglio	
  	
  1/R2C	
  ;	
  ad	
  esempio,	
  se	
  si	
  prende	
  un	
  comune	
  
condensatore	
  (non	
  polarizzato)	
  da	
  4.7	
  µF	
  si	
  o?ene	
  una	
  frequenza	
  di	
  
taglio	
  di	
  12	
  Hz;	
  questa	
  frequenza	
  è	
  adeguata	
  per	
  un	
  amplificatore	
  
audio.	
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R1	
  =	
  18	
  kΩ	
  
R2	
  =	
  6	
  kΩ	
  
RL	
  =	
  1.25	
  kΩ	
  
RE	
  =	
  420	
  Ω	
  
C	
  	
  	
  =	
  4.7	
  µF	
  
	
  
Q	
  =	
  2N3904	
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L’amplificazione	
  non	
  è	
  elevata	
  e	
  potrebbe	
  essere	
  necessario	
  
aggiungere	
  degli	
  ulteriori	
  stadi	
  di	
  amplificazione,	
  come	
  nella	
  
figura	
  seguente,	
  simile	
  al	
  circuito	
  che	
  abbiamo	
  discusso,	
  che	
  
mostra	
  due	
  emi2er	
  follower	
  in	
  cascata	
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Diodo	
  a	
  vuoto	
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Triodo	
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I	
  transistor	
  a	
  effe2o	
  di	
  campo	
  (FET)	
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La	
  maschera	
  da	
  proie2are	
  

Il	
  fotoresist	
  
viene	
  depositato	
  
sul	
  wafer	
  

Proiezione	
  della	
  
maschera	
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Litografia	
  ad	
  alta	
  risoluzione	
  

richiede	
  l’uso	
  di	
  sorgenK	
  ultraviole0e	
  a	
  piccola	
  lunghezza	
  
d’onda	
  (	
  <	
  200	
  nm	
  )	
  
	
  
•	
  laser	
  ad	
  eccimeri	
  oppure	
  	
  
	
  	
  lampada	
  a	
  plasma	
  
	
  
•	
  focalizzazione	
  per	
  mezzo	
  di	
  	
  
	
  	
  elemenX	
  o?ci	
  rifle2enX	
  asferici	
  
	
  
•	
  nel	
  caso	
  di	
  radiazione	
  EUV	
  	
  
	
  	
  (11-­‐13	
  nm)	
  gli	
  specchi	
  devono	
  
	
  	
  essere	
  lavoraX	
  con	
  una	
  	
  
	
  	
  tolleranza	
  di	
  	
  ~0.1	
  nm	
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